MDE sp
*h.*slﬁ %

X pt 9
“#ape

2025 HOT Water Well System Products

DE /5,
"’:a.*ﬂ’

o
“#ape

Male Adapter/ Female Adapter/ Insert Coupling

Male Adapter

lead free bronze

010065: 1/2" MIP x 1/2" insert
010066: 3/4" MIP x 3/4" insert
010067: 1" MIP x 1" insert

010068: 1-1/4" MIP x 1-1/4" insert
010069: 1-1/2" MIP x 1-1/2" insert

010070: 2" MIP x 2" insert
010071: 3/4" MIP x 1" insert
010072: 1" MIP x 3/4" insert
010073: 1" MIP x 1-1/4" insert
010074: 1-1/4" MIP x 1" insert
lead free brass

010080: 1/2" MIP x 1/2" insert
010081: 3/4" MIP x 3/4" insert
010082: 1" MIP x 1" insert

010083: 1-1/4" MIP x 1-1/4" insert

010084: 3/4" MIP x 1" insert
010085: 1" MIP x 3/4" insert
55304

010167: " MIP X 1" insert
010168: 1-1/4" MIP X 1" insert

010169: 1-1/4" MIP X 1-1/4" insert

Extra Long

Male Adapter
-

=\
\

{
{
{
(
{
{
[}
{
!
|
[

lead free bronze

010075: 1" MIP x 1" insert
010076: 1-1/4" MIP x 1-1/4"
insert

010077: 1-1/2" MIP x 1-1/2"
insert

010078: 2" MIP x 2" insert
010079: 1-1/4" MIP x 1" insert
lead free brass

010086: 1" MIP x 1" insert
010087: 1-1/4" MIP x 1-1/4"
insert

Insert Coupling

lead free bronze
010001: 1/2" x 1/2"
010002: 3/4" x 3/4"
010003: 1" x 1"
010004: 1-1/4" x 1-1/4"
010005: 1-1/2" x 1-1/2"
010006: 2"x 2"

010007: 3/4" x 1"
010008: 1" x 1-1/4"
lead free brass
010013: 1/2" x 1/2"
010014:3/4" x 3/4"
010015: 1" x 1"
010016: 1-1/4" x 1-1/4"
010017: 2"x 2"

Extra Long
Insert Coupling

|
)
|
)
]
)
)
)
)
)
)

lead free bronze
010009: 1" x 1"
010010: 1-1/4" x 1-1/4"
010011: 1-1/2” x 1-1/2”
010012: 2" x 2"




Female Adapter

lead free bronze

010030: 1/2" FIP x 1/2" insert
010031: 3/4" FIP x 3/4" insert

010032: 1" FIP x 1" insert

lead free brass

010036: 1/2" FIP x 1/2" insert
010037: 3/4" FIP x 3/4" insert
010038: 1" FIP x 1" insert

010033: 1-1/4" FIP x 1-1/4" insert
010034: 1-1/2" FIP x 1-1/2" insert

010035: 2" FIP x 2" insert

010210: 1" FIP x 1-1/4" insert

010039: 1-1/4" FIP x 1-1/4" insert
010040: 1-1/2" FIP x 1-1/2" insert
010041: 2" FIP x 2" insert

Elbow& Tee

Hydrant inset elbow

lead free bronze

010045: 3/4" MIP x 3/4" insert
010046: 3/4" MIP x 1" insert
010047: 1" MIP x 1" insert
010048: 1-1/4" MIP x 1-1/4" insert
010049: 1" MIP x 1-1/4" insert
lead free brass

010052: 3/4" MIP x 3/4" insert
010053: 3/4" MIP x 1" insert
010054: 1" MIP x 1" insert
010055: 1-1/4" MIP x 1-1/4" insert
55304

010159: 3/4" MIP x 3/4" insert
010160: 3/4" MIP x 1" insert
010161: 1" MIP x 1" insert
010162: 1" MIP x 1-1/4" insert
010163: 1-1/4" MIP x 1-1/4" insert

Extra Long
Hydrant inset elbow

lead free bronze
010050: 3/4" MIP x 1" insert
010051: 1" MIP x 1" insert

Female elbow lead free bronze

010042: 1" FIP x 1" insert
010043: 1-1/4" FIP x 1-1/4"
insert

010044: 1" FIP x 1-1/4" insert

lead free bronze
010018:3/4" x 3/4"
010019: 1" x 1"
010020: 1-1/4" x 1-1/4"
010021: 1" x 1-1/4"
$s304

010170: 3/4" x 3/4"
010171: 1" x 1"
010172: 1-1/4"x 1"
010173: 1-1/4" x 1-1/4"

Insert tee

lead free bronze

010022: 3/4" x 3/4" x 3/4"
010023:1"x3/4"x1"

010024: 1" x1"x 1"

010025: 1-1/4" x 1-1/4" x 1-1/4"
010026: 1-1/4" x 1" x 1-1/4"
lead free brass

010027:3/4" x 3/4" x 3/4"
010028:1"x1"x 1"

010029: 1-1/4" x 1-1/4" x 1-1/4"
55304

010174:3/4" x3/4" x 3/4"
010175:1"x1"x 1"

010176: 1" x3/4" x 1"
010177:1-1/4" x 1-1/4" x 1-1/4"

lead free bronze

010056:

3/4" MIP x 3/4" insert x 3/4"
insert

010057:

1" MIP x 1" insert x 1" insert
010058:

3/4" MIP x 1" insert x 1" insert
lead free brass

010059:

3/4" MIP x 3/4" insert x 3/4"
insert

010060:

1" MIP x 1" insert x 1" insert
010061:

3/4" MIP x 1" insert x 1" insert
55304

010164:

3/4" MIP x 3/4" insert x 3/4"
insert

010165:

3/4" MIP x 1" insert x 1" insert
010166:

1" MIP x 1" insert x 1" insert

Hydrant tee




Pitless Adapter

lead free bronze
010089: 1”
010090: 1-1/4”
010091: 1-1/2”
010092: 2”

lead free brass
010093:1" compact
010094: 1”
010095: 1-1/4”
010096: 1-1/2”

2-LINE

lead free bronze
010088: 1” x 1-1/4”

010097: 2”
55304
010180: 1” compact
010181: 1"
010182:1-1/4”

Tank

Tes

Short tank tee

lead free brass

010199: 1" x L4-1/2"
010200: 1-1/4" x L4-1/2"
Ss304

010183: 1" x L4-1/2"
010185:1-1/4" x L4-1/2"

Short tank tee

T

lead free brass

010158:

1"MIP x 1" FIP x L4-1/2"
010198:

1-1/4"MIP x 1-1/4" FIP x L4-
1/2"

55304

010184: 1" FIP x L4-1/2"
010186: 1-1/4" FIP x L4-1/2"

Short tank tee

lead free brass
010201:
1-1/4" x 1-1/4" x 1-1/4" L4-1/2"

Short tank tee

lead free brass

010202: 1"x1"x1" plus 1" SWT
x MIP adapter

010203: 1-1/4"x1-1/4"x1-1/4"
plus 1-1/4" SWT x MIP adapter

Short tank tee

lead free brass

010204: 1"x1"x1" plus 1" SWT x
MIP adapter

010205: 1-1/4"x1-1/4"x1-1/4"
plus 1-1/4" SWT x MIP adapter

Short tank tee

lead free brass
010192:1-1/4" x L3"
010197: 1" x L3"
55304

010206: 1"x L3"
010207:1-1/4"x L3"




lead free bronze

010126: 1"x1"x1" x L11" 1 hole

010127: 1"x1"x1" x L14" 1 hole

010128: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole
lead free brass

010134: 1"x1"x1" x L11" 1 hole

010135: 1"x1"x1" x L14" 1 hole

010136: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole
bronze

010142: 1"x1"x1" x L11" 1 hole

010143: 1"x1"x1" x L14" 1 hole

010144: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole
brass

010150: 1"x1"x1" x L11" 1 hole

010151: 1"x1"x1" x L14" 1 hole

010152: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole

lead free bronze

010098: 1"x1"x1" x L11" 1 hole

010099: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole
010100: 1"x1"x1" x L5-1/2" 1 hole

010101: 1-1/4"x1-1/4"x1-1/4" x L5-1/2" 1 hole
lead free brass

010105: 1"x1"x1" x L11" 1 hole

010106: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole
010107: 1"x1"x1" x L5-1/2" 1 hole

010108: 1-1/4"x1-1/4"x1-1/4" x L5-1/2" 1 hole
bronze

010112: 1"x1"x1" x L11" 1 hole

010113: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole
010114: 1"x1"x1" x L5-1/2" 1 hole

010115: 1-1/4"x1-1/4"x1-1/4" x L5-1/2" 1 hole
brass

010119: 1"x1"x1" x L11" 1 hole

010120: 1-1/4"x1-1/4"x1-1/4" x L14" 1 hole
010121: 1"x1"x1" x L5-1/2" 1 hole

010122: 1-1/4"x1-1/4"x1-1/4" x L5-1/2" 1 hole

lead free bronze

010129: 1" x1"x 1" x L11" 2 holes

010130: 1" x 1" x 1" x L14" 2 holes

010131: 1-1/4" x 1-1/4" x1-1/4" x L14" 2 holes
010132: 1"x1"x1" x L5-1/2" 2 holes

010133: 1-1/4" x1-1/4" x1-1/4" x L5-1/2" 2 holes
lead free brass

010137: 1" x1"x 1" x L11" 2 holes

010138: 1" x 1" x 1" x L14" 2 holes

010139: 1-1/4" x 1-1/4" x1-1/4" x L14" 2 holes
010140: 1"x1"x1" x L5-1/2" 2 holes

010141: 1-1/4" x1-1/4" x1-1/4" x L5-1/2" 2 holes
bronze

010145: 1" x1"x 1" x L11" 2 holes

010146: 1" x 1" x 1" x L14" 2 holes

010147: 1-1/4" x 1-1/4" x1-1/4" x L14" 2 holes
010148: 1"x1"x1" x L5-1/2" 2 holes

lead free bronze

010102: 1"x1"x1" x L11" 2 holes

010103: 1-1/4"x1-1/4"x1-1/4" x L14" 2 holes
010104: 1"x1"x1" x L5-1/2" 2 holes (O-ring type)
lead free brass

010109: 1"x1"x1" x L11" 2 holes

010110: 1-1/4"x1-1/4"x1-1/4" x L14" 2 holes
010111: 1"x1"x1" x L5-1/2" 2 holes (O-ring type)
010211: 1"x1"x1" x L14" 2 holes010212: 1-1/4"x1-1/4"x1-
1/4" x L5-1/2" 2 holes (O-ring type)

bronze

010116: 1"x1"x1" x L11" 2 holes

010117: 1-1/4"x1-1/4"x1-1/4" x L14" 2 holes
010118: 1"x1"x1" x L5-1/2" 2 holes (O-ring type)
brass

010123 1"x1"x1" x L11" 2 holes

010124: 1-1/4"x1-1/4"x1-1/4" x L14" 2 holes




010149:
brass
010153:
010154:
010155:
010156:
010157:
$s304
010208:
010209:

1" X 1|| X 1|| X L8II
1"x 1" x 1" x L11"

1-1/4" x1-1/4" x1-1/4" x L5-1/2" 2 holes

1"x 1" x 1" x L11" 2 holes

1"x1"x 1" x L14" 2 holes

1-1/4" x 1-1/4" x1-1/4" x L14" 2 holes
1"x1"x1" x L5-1/2" 2 holes

1-1/4" x1-1/4" x1-1/4" x L5-1/2" 2 holes

010125: 1"x1"x1" x L5-1/2" 2 holes (O-ring type)

55304

010187: 1"x1"x1" x L5-1/2"
010189: 1"x1"x1" x L11"
010190: 1"x1"x1" x L14"

010188: 1-1/4"x1-1/4"x1-1/4" x L5-1/2"
010191: 1-1/4"x1-1/4"x1-1/4" x L14"

Pressure Relief Valve

Rubber Torque Arrestor

lead free brass
077001: 1/2" x 1/2" (75PSl)
077002:1/2" x 1/2" (100PSI)
077003:1/2" x 1/2" (125PSI)
077004:1/2" x 1/2" (150PSI)
077005:1/2" x 1/2" (175PSI)
077006: 3/4" x 3/4" (75PSI)
077007: 3/4" x 3/4" (100PSI)
077008: 3/4" x 3/4" (125PSI)
077009: 3/4" x 3/4" (150PSI)
077010: 3/4" x 3/4" (175PSI)
077011: 1/2" x 3/4" (75PSl)
077012: 1/2" x 3/4" (100PSI)
077013: 1/2" x 3/4" (125PSI)
077014: 1/2" x 3/4" (150PSI)
077015: 1/2" x 3/4" (175PSI)

55304
010178: 1/2" X 1/2" (75PSl)
010179:1/2" X 3/4"(75PSI)
010234: 1/2" X 1/2" (100PSI)
010235: 1/2" X 3/4"(100PSI)

010213

Check Valve & Foot Valve

lead free brass
070001: 1/2"
070002: 3/4"
070003: 1"
070004: 1-1/4"
070005:1-1/2"
070006: 2"
070007: 3"
070008: 4"
lead free bronze
070009: 1/2"
070010: 3/4"
070011: 1"
070012: 1-1/4"
070013:1-1/2"
070014: 2"
070015: 3"
070016: 4"

brass

070025: 1/2"
070026: 1/4"
070027: 3/8"
070028: 3/4"
070029: 1"
070030: 1-1/4"
070031:1-1/2"
070032: 2"
070033: 3"
070034: 4"
bronze
070035: 1/2"
070036: 3/4"
070037: 1"
070038: 1-1/4"
070039:1-1/2"
070040: 2"
070041: 3"
070042: 4"

S5304
070017: 1/2"
070018: 3/4"
070019: 1"
070020: 1-1/4"
070021:1-1/2"
070022: 2"
070023: 3"
070024: 4"




lead free brass brass SS304

070043: 1" 070055: 1" 070051: 1"

070044: 1-1/4" 070056: 1-1/4" 070052: 1-1/4"
070045: 1-1/2" 070057: 1-1/2" 070053: 1-1/2"
070046: 2" 070058: 2" 070054: 2"

lead free bronze bronze

070047: 1" 070059: 1"

070048: 1-1/4" 070060: 1-1/4"

070049: 1-1/2" 070061: 1-1/2"

070050: 2" 070062: 2"

lead free brass brass SS304

070063: 1"Fx1"M 070072: 1"Fx1"M 070069: 1"Fx1"M
070064: 1"F x 1-1/4"M 070073: 1"F x 1-1/4"M 070070: 1"F x 1-1/4"M
070065: 1-1/4"F x 1-1/4"M 070074 070071: 1-1/4"Fx 1-1/4"M

lead free bronze 1-1/4"F x 1-1/4"M
070066: 1"F x 1"M bronze

070067: 1"F x 1-1/4"M 070075: 1"Fx1"M
070068: 1-1/4"F x 1-1/4"M 070076: 1"F x 1-1/4"M

070077:

1-1/4"F x 1-1/4"M
lead free brass brass SS304
071001: 1/2" 071025: 1/2" 071017: 1/2"
071002: 3/4" 071026: 3/4" 071018: 3/4"
071003: 1" 071027: 1" 071019: 1"

071004: 1-1/4"
071005:1-1/2"

071028: 1-1/4"
071029:1-1/2"

071020: 1-1/4"
071021:1-1/2"

071006: 2" 071030: 2" 071022: 2"
071007: 3" 071031: 3" 071023: 3"
071008: 4" 071032: 4" 071024: 4"
lead free bronze bronze

071009: 1/2" 071033: 1/2"

071010: 3/4" 071034: 3/4"

071011: 1" 071035: 1"

071012: 1-1/4"
071013:1-1/2"

071036: 1-1/4"
071037:1-1/2"

071014: 2" 071038: 2"
071015: 3" 071039: 3"
071016: 4" 071040: 4"

lead free bronze
071041: 1"F x 1-1/4"M
bronze

071042: 1"F x 1-1/4"M




lead free brass brass SS304

071043:1/2" 071061 1/2" 071055: 1/2"
071044:3/4" 071062: 3/4" 071056: 3/4"
071045: 1" 071063: 1" 071057: 1"
071046: 1-1/4" 071064: 1-1/4" 071058: 1-1/4"
071047:1-1/2" 071065: 1-1/2" 071059: 1-1/2"
071048: 2" 071066: 2" 071060: 2"
lead free bronze bronze

071049: 1/2" 071067: 1/2"

071050: 3/4" 071068: 3/4"

071051: 1" 071069: 1"

071052: 1-1/4" 071070: 1-1/4"

071053: 1-1/2" 071071: 1-1/2"

071054: 2" 071072: 2"

Anti-Siphon Frost Free Sillicock& Parts

Standard type

Multi-Turn Quarter Turn
1/2" MXS x 47, 67,8”,10”, 12", 14" 1/2" MXS x 47, 67,87, 10", 12", 14"
3/4" MIP x 1/2" FIP x 4", 67, 87,107, 127, 14” 3/4" MIP x 1/2" FIP x 47, 67, 87,107, 127, 14”
1/2" PEX F1807 x 4", 67, 8", 107, 12", 14" 1/2" PEX F1807 x 47,67, 8", 107, 127, 14"
1/2" PEX F1960 x 4", 67, 8", 10", 12", 14” 1/2" PEX F1960 x 47, 67, 8", 107, 127, 14”

® Custom handle colors upon your demand. For example, red, blue, black, brown, etc.

MOUNTING INSTRUCTIONS




Float Valve& Parts

Hose Bibb

/

Hose Bib No Kink/ Sillcock
Push-Fit Quarter Turn Valve

Size: 1/2" or 3/4" w

Float Valve

Lead Free Brass / Bronze %
|

1/2", 3/4", 1

Brass Rod
1/4-20UNC
8", 10", 12" Length

H PVC Float Ball
5", 6", 8"
Connection g
1/4-20UNC ’

Lead Free Brass / Brass

Float Valve
1-1/4", 1-1/2", 2"
Lead Free Brass / Bronze

Teflon Tape

Hose Clamp

p
“i\j}g {jf} Cw@

Hose Clamp

b,

—_ ——
x=.0.(
§§§ﬁ;ﬁ, ',ﬂon“ \)“\

Various Hose Clamps & Hose Ties & Tools

Co ';T@?)’

PVC Valve& Fitting

ABS & PVC Coupling

ifo

ABS & Flexible PVC

Plumbing Specialities
- no-hub couplings

-test cap
etc..

(8¢
L\

-drain trap connectors

w5y

PVC Valves & PVC Fittings




Vacuum breaker

Heavy type/ Light type

(Lead free) Brass vacuum breaker lead free brass
Size: 3/4" NH ‘ 034002:RAW, HEAVY TYPE
- @0 % 034003:RAW, LIGHT TYPE
Sa— ® 034006:CP, HEAVY TYPE
034007:CP, LIGHT TYPE

Brass

034004:RAW, HEAVY TYPE
034005:RAW, LIGHT TYPE
034008:CP, HEAVY TYPE
034009:CP, LIGHT TYPE

Brass / NL Brass Vacuum Breaker, 3/4"
NEW! innovation Structure! Patent!

#034011 Silicone Plastic
034010 —mm— Security Screw

Brass vacuum breker ‘ Em
Size:1/2”NPSM C ® e

Plastic Vacuum Break, 3/4”

Security Screw

will be broken once locked

#034012

Electrical terminals / Splicing Kits (connectors & tubes) / Cable Gland




Hand Pump

Pifcher P UMP = BLACK COLOR IS AVAILABLE

i 1

#PPOT e #PP04

‘
#PPO5

(Made in Taiwan) HPPO6 #PPO7

(Made in Taiwan)

OEM parts (custom)




